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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 are of 1 mark each.

In AABC, if AB= 63 cm, AC=12 cm and BC=6 cm, then angle B is equal to :

(A) 120° (B) 90° Q) 60° (D) 45°

The lower limit of the modal class of the following data is :

C.L 10-20 | 20-30 | 30-40 | 40-50
Frequency 8 13 7 6

(A) 10 (B) 30 (C) 20

The mean of the following data is :
45, 35, 20, 30, 15, 25, 40
(A) 15 (B) 25 (C) 35 (D) 30

Which of the following rational numbers have non terminating and repeating decimal
expansion ?

15 35
(A) ) o

If « and B are the zeroes of the polynomial 4x2+3x +7, then 1 + % is equal to :
o

7 3
&) 3 © -

If x=25in%0 and y=2cos20+ 1, then the value of x+y is :

A) 1 (B) 4 (C) 0
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The value of x in the factor tree is :

(1 — cosb) (1 + cosb)
(1 — sind) (1 + sind)

is equal to :

If tanf = ; then the value of

64
B) 49

AABC is such that AB=3 cm, BC=2 cm and CA=25 cm. If ADEF~AABC and
EF =4 cm, then perimeter of ADEEF is :

(A) 15 cm (B) 225 cm (©) 75cm (D) 30 cm

Which of the following is not a solution of the pair of equations 3x —2y=4 and
6x—4y=87

(A) x=2,y=1 (B) x=4,y=4 (C) x=6,y=7 (D) x=5,y=3
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11. Prove that the area of the equilateral triangle described on the side of a square is half
the area of the equilateral triangle described on its diagonal.

Solve for x and y
4x+é=15;3x—é=7
Yy Yy

Explain why 7Xx6x5x4Xx3x2x1+7 is a Composite Number.

If A, B and C are interior angles of AABC, then show that :

(LA + ABJ ZC
tan| —— | = COtT

If sin® + sin%0 = 1, then find the value of cos20 + cos?0.
OR

In AABC, ZABC=90°, AB=5 cm and £ ACB=30° find BC and AC.

Check whether x2—x+1 is a factor of x> —3x2+3x—2

S
Fig. 1

In the fig. 1, % = % and /,TQR= /PRS. Show that APQS ~APQR.

For the following data find mode.

C. L 1-3 3-5 5-7
Frequency 14 16 4
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SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19.

P and Q are points on sides AB and AC respectively of AABC. If AP=3 cm, PB=6 cm,
AQ=5 cm and QC=10 cm, show that BC=3PQ.

Evaluate :

25in68°  2tan(90 —15°)  3tan45°tan20°tan40°tan50°tan70°
c0s22° 5cot15° 5(sin?70° + sin”20°)

Find the median of the following data

C.L 10-20 | 20-30
Frequency 16 36

In AABC, AD 1 BC such that ABZ=BD.CD. Prove that ABC is right angled triangle,
right angle at A.

OR

Two right triangles ABC and DBC are drawn on the same hypotenuse BC and on
the same side of BC. If AC and BD intersect at P, prove that

AP xPC=BPxPD

Use Euclid division lemma to show that the cube of any positive integer is either of the
form 9m, 9m+1, or 9m+8.

If sinf + cos®=p and secO + cosec =q, show that q(p2—1)=2p

OR

If sind + cos®= /2 sin (90 — 6), show that cotd= /2 +1
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If the zeroes of the polynomial x3—3x24+x+1 are a—b, a and a+Db find the value of
a and b.

Prove that 3+5+/2 is irrational.

Father’s age is 3 times the sum of ages of his two children. After 5 years his age will be
twice the sum of ages of two children. Find the age of father.

OR
Places A and B are 100 km apart on a highway. One car starts from A and another
from B at the same time. If the car travel in the same direction at different speeds, they

meet in 5 hours. If they travel towards each other they meet in 1 hour. What are the
speeds of the two cars ?

Draw a less than ogive for the following frequency distribution :

Class Interval |150 - 155|155 - 160|160 - 165165 - 170 {170 - 175|175 - 180
Frequency 6 10 22 34 16 12

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29. If two zeroes of p(x)=x*—6x>—26x2+138x—35 are 2 +\/3, find the other zeroes.

30. Draw the graph of 2x+y=6 and 2x—y+2=0. Shade the region bounded by these
lines with x axis. Find the area of the shaded region.
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The mean of the following data is 57.6. Find the missing frequencies f; and f,.

C.L 0-20 [20-40 | 40-60 [ 60-80 [80-100{100-120| Total
Frequency 7 f1 12 fa 8 5 50

Prove that : (1+tanAtanB)? + (tanA —tanB)2=sec?A .sec’B.

If tan® + sin® = m and tan® — sin® = n, prove that m?2—n2= 4/mn.

OR

2

If sech +tan =p, show that p2 = sinf
p +1

Prove that in a right triangle the square of hypotenuse is equal to sum of the squares of
other two sides.

OR

Prove that the ratio of the areas of two similar triangles is equal to the square of the
ratio of their corresponding sides.
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AABC ® 9fg AB= 6/3 Q.11. AC=12 9.7}, qeMBC=6 A.H. 99 , B &1 :

(A) 120° (B) 90° (@)

Frefafea aneft § agas =t &t e g

60°

A STAA 10-20 | 20-30 | 30-40

IRERAT 8 13 7

6

(A) 10 (B) 30 (@)

1= atferel =t Hiem &
45, 35, 20, 30, 15, 25, 40
(A) 15 (B) ©)

20

35

et uftrs Semsti # @ %A 9 Se e g9 TRIgia gemed § 2

A o, B TETR 422+ 3x+7 F Y T A L +%T°|TF°|'{€F'IT:

o

7
(A 3 (©)

Il x =2sin%Q T y=2c0s20 + 1 T x +y T AH g
(A) 1 (B) 4 (©
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7.

10.

THEE J&1 H x 1 71 ST

& (1 — cosB) (1 + cosb) R

)

(1 — sind) (1 + sind)

AABC 39 &R § f% AB=3 9.9, BC=2 9.9, 991 CA=25 9.9l.| Ife ADEF~ AABC
qT EF =4 9.9, 9 ADEF 1 9fHM ¢ :

(A) 15 9. (B) 225 9.4 (C) 7.5 9. (D) 30 §.95.

fEsh I FHIHT 3x — 2y =4 AT 6x — 4y =8 F A 74 H & & 2

(A) x=2,y=1 (B) x=4,y=4 (C) x=6,y=7 (D) x=5,y=3
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4x+é=15;3x—é=7
y

y

TR HINT fF 7X6X5X4X3%X2x1+7 Th Yog & B

Ife A, B 3R C fvet AABC & 3T=Ifieh Il & ol <90sd :

(LA + ABJ ZC
tan = COtT

Ife sind + sin20 =1 9 cos20 + cos*d T HM J1d F |
aa
AABC ¥ afg , ABC=90°, AB=5®.HI. 1 , ACB=30° & d BC 991 AC J1d & |

St HIT o 22— x +1 TgIE 23— 322 4 3x — 2 FT PHES T
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fedt g st (1) ¥, %1; _ % qem ,TQR= , PRS. <T@ f APQS ~APQR.
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18. T1=1 siissi &1 sgeteh A1 s |

I FeT| 1-3 3-5
IRARAT 14 16

Y99 GG 19 W 28 A Tk W9 3 31 &l &

AABCH PAaQ, AB A AC 4= ® §1 fag €1 afg AP=3 9.9, PB=6 9.1, AQ=59.1.
o1 QC=10 ¥.9. 7 @ g¥Msd BC =3PQ.

qH I F -

2sin68°  2tan(90 —15°)  3tan45°tan20°tan40°tan50°tan70°
0s22° 5cot15° 5(sin’70° + sin?20°)

frefafea aroft &) miftgert I & |

A A=A 10-20 | 20 -30
IRERAT 16 36

AABC, § AD 1 BC 38 &R ¢ f AB2=BD.CD fag ISt fF AABC T& wwahivl 3ot §
fSEe A gHeRI0 § |

a"

31 HHHIU AABC T2 ADBC &9 BC % T& & T Tid T4 €1 afc AC T BD Th T8 &l
P forg W ufdese =i di fag i -

AP XPC=BPxPD
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TS sinf + cos® = p TUT sech + cosech = q dl ENIER q(P*—1)=2p.
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T a7qae [150 - 155|155 - 160160 - 165(165 - 170 |170 - 175[175 - 180
IRERAT 6 10 22 34 16 12
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Ifg TgIE p(x) =x*—6x3 —26x2+138x—35 & T IFH 2+/3 & N T T YAH I
F |

2x+y=6 T 2x—y+2=0 1 Tk Gifad A1 x & 9 WA 9 R g¥ w1 F sHifRd
TSI qT BTAIFRT &3 1 &ha o1 J1d Y |

o oo >

Ffafad siiehel o1 T 57.6 €| 310 SERAl £, T £, J o |

it s | 0-20 | 20-40 | 40-60 | 60 - 80 80 - 100|100 - 120
SR 7 fi 12 f 8 5

fag HINT : (1+tanAtanB)? + (tanA —tanB)2=sec?A .sec?B.

IfE tand + sin® = m T tan® — sin® = n a1 g FHIST fF m2—n2= 4/mn.
q7
2

7S sech + tand = p WA T £2+1 = sinf

fag wifee for TaeRror st o ol o1 ol 919 7= <A1 qeTet & o % AT % SR B
T
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